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Choose the correct answer .

The distance between two points P(X;, y;) and Q(X,,Y,) is
@ \/(Xl_xz)z +(Y1—Y2)? () (% —Xy)? © \/(X1+X2)2 +(1—-¥2)® (@ VYi— Yo

Cos(a + B) =
(@ Sna.Cosp +Cosa.Sng
(¢) Cosa.Cosp + Sna.Sng
Sin(a - B) =
(@ Sna.Cosp +Cosa.Sng
(¢) Cosa.Cosp + Sna.Sng

o)

(b) Sna.Cosp —Cosa.Snpg
(d) Cosa.Cosp — Sna.Snpg

(b) Sna.Cosp —Cosa.Sng
(d) Cosa.Cosp — Sna.Snpg

(@ Sno (b) Coso (0 —Sno (d) —CosO

Sn(£+9j =
2

(@ Sno (b) Cosf (0 —Sno (d) —CosO

Tan(E - Qj
2

(@ Tano (b) cot 6 () —tano (d) —coto
tan3a =
3tano —tan® « 3tano +tan’ a 3tano —tan® «
e 1-3tan’ o ®) 1-3tan’ o © 1+ 3tan’ o (c) riane of these
tan(2z - 0) =
(@ Tanb (b) coto (o) —tan® (d) —coto
cos(2r +0) =
(@ Sno (b) Cos6 (o —Sno (d) —Coso
. (371’ j
snf—-0 |=
2

(@ Sno (b) Cos6 (o —Sno (d) —Coso
cot(90° - 0) =
(@ Tano (b) cot 6 () —tano (d) —coto
7 —0 will havetermina sidein
(@) 1% quadrant (b) 2™ quadrant (c) 3 quadrant (d) 4™ quadrant
27 + 60 will haveterminal sidein
() 1% quadrant (b) 2™ quadrant (c) 3¢ quadrant (d) 4™ quadrant
2sin? % =

2
(@ 1+sina (b) 1-sina (0) 1+ cosa (d) 1-cosa
sin3o =

(@ 4sina —-3sn®a (b) 3sna —4sn®a () 3cos’a —4cosa  (d) 4cos’ o —3cosa

1+ cos2a =

(@ 2sin’a (b) 2cos’ a (© 2sna (d) none of these
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17. tan(-135") =
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19.

20.
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23.
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@1 (b) /3
cos147° =
(@) cos33° (b) sin33°

cos(a + B) —cos(a — B) =

(@ 2cosa.sin (b) —2sina.cosf

sec200° =

(@ sec20’

snP-snQ=

PrQpsP=Q
2 2

© 2c0sm L cosP =9
2 2

(b) —sec20°

(@ 2dn

C0S760 —cosf =
(@ 2sin49 cos39

J1+sin0 =

. 0 0
sin—+cos—
@ 2 2

(b) 2cos46sin 30

(b) sin o_ cosg
2 2

1
(@) ﬁ
() —cos33’
(0 —2sina.sinfB

(¢©) cosec20’

(d)-1

(d) —sin33’
(d 2cosa.cosp

(d) —cosec20’

+Q.nP—Q

P
b) 2cos S
(b) 2

P+QSin

P-Q

(d —2sin >

(c) 2cos46 cos30

(c) sin6 +cos6O

cos(a — ) = cosacosP +sinasin f iscdled

(@ 1% law (b) fundamental law
sin75° =
@3 0 %3

2V2 2
Which of the following is the dlied angles
@0 (b) 180+ 6

sn(a + B).sn(a - B) =

@ sina—-sn®’pB  (b) sSina +sin*p

(c) important law

V3
(@) Ny

(¢) 180°

(¢) cos® a —cos®

Find the distance between the points A(3,8) and B(5,6)

@ 32 (b) V2
c0s330° sin 600° + cos120° sin150° =
@0 (b) 1

sin(@ +£j+ 00{9 +£j =
6 3

(@ Sno (b) Coso

© /3

(2

(0 —Sno

2
(d —2sin49sn30
(d) sinf —cos6

(d) none of these

J3+1
22

(d) none of these

(d)

(d) cos® o + cos® B

(d) 22

(d) none of these

(d) — Coso
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